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QUESTION 1

What is true of a required interface associated with a port?

A. represents an interface that must be defined within the classifier that owns the port

B. identifies the services that the object owning the port expects of objects connected via that port

C. identifies the services that the object owning the port can offer to other objects connected via that port

D. represents an interface that must be defined in the same package in which the classifier owning the port is defined

Correct Answer: B

QUESTION 2

Which must be true in order to use a delegation connector to connect two components?
A. The components must have complex ports.

B. One component must be a subtype of the other.

C. The components must be related to each other via a dependency.

D. One component must be part of the internal realization of the other component.

Correct Answer: D

QUESTION 3

For what does an interaction operator define semantics?
A. a particular message

B. a particular interaction

C. a particular combined fragment

D. a particular interaction fragment

Correct Answer: C

QUESTION 4
What situation results from performing a CreateObjectAction on an abstract class?
A. undefined behavior

B. exception being raised
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C. error log entry being created
D. object of the specified class being created
E. arbitrary object of one of its subclasses being created

Correct Answer: A

QUESTION 5

What is implied when a transition terminates on the outer border of a composite state that has an initial and a history
pseudostate?

A. The state is not entered.

B. The outgoing transition from the final pseudostate is taken.
C. The outgoing transition from the initial pseudostate is taken.
D. The outgoing transition from the history pseudostate is taken.

Correct Answer: C
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